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Class-1,2,3

0x1=0
0x2=0
0x3=0
0x4=0
0x5=0
0x6=0
0x7=0
0x8=0
0x9=0
0x10=0

v Table of 1
1x1=1
1x2=2
1x3=3
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Topic- Table of 0,1,2,3,4 and 5.
¥ Table of 0 < Table of 2 'Y Table of 47 |

Sub Maths

2x1=2 bx1=4
2x2=4 fx2=8
2%x3=6 4 x3=12
2x4=8 4 x4 =16
2x5=10 4x5=20
2%x6=12 4 x 6 =24
2x7 =14 4 x7 =28
2x8=16 L x 8 =32
2%x9=18 4 x9=36
2x10=20 4x10=40
% Table of 3 < Table of 5
I3Ix1=3 5x1=5
3x2=6 5x2=10
3x3=9 5x3=15
3x4=12 5x4=20
3x5=15 5x5=25
3x6=18 5x6=30
3x7=21 5x7=35
3x 8 =24 5x8=40

3x9=27
3x10 =30
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6x2=12
6x3=18
6 x4=24
6x5=30
6x6=36
6x7=42
6x8 =48
6x9 =54
6 x10 =60

A

8x9=72 10x9=90
8x10=80 10 x10 =100

7x1=7

7%x2=14
7% 3 =21
7x4=28
7%x5=35
7%x6=42
7x7=49
7%x8=56
7%x9 =63

__ \7x10=70 9x10=9011x10 =110
i@;,f byl= Yadauv (A"T3)'P.S:Chauradeu!

9x1=9
9x2=18
9 x3 =27
9x4=36
9x5=45
9%x6=54
9x7=63
9x8=72
9x9 =81

Mx1=1
M x2=22
1M x3=33
1M x4 =44
1M x5=55
11 %6 =66
Mx7=77
11 x8 =88
1M1 x9=99
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Class- 3,4,5 Sub- Maths
Topic - Table of 12, 13, 14 and 15.
Y Table of 12 < Table of 13
12x1=12 13x1=13
12x 2 =24 13x2=26
12x 3 =36 13x3=39
12 x 4 = 48 13 x4 =52
12x5 =60 13x5 =65
12x6 =72 13x6=78
12x7 = 84 13x7 =91
12x 8 =96 13x 8 =104
12x9 =108 13x9 =117
" 12x10 =120 13x10 =130
 Table of 14 % Table of 15
14 x1=14 15x1=15
14 x 2 =28 15x2=30
14 x 3 = 42 15x 3 =45
14 x 4 = 56 15 x4 =60
14 x5=70 15x5=175
14 x 6 = 84 15x6 =90
14 x7 =98 15 x 7 =105
14 x 8 =112 15 x 8 =120
14 x 9 =126 15x9=135
14 x 10 = 140 et 15 x 10 = 150
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16 x1= 16

16 x7 = 112

]
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Class- 3,4,5
Topic- Table of 16,17,18,19 and 20.

< Table of 16 ¢ Table of 187k Table of

18 x1=18
18 x 2 =36
18 x 3 = 54
18 x4 =72
18 x5 =90
18 x 6 =108
18 x 7 =126

16 x 8 =128 18 x 8 = 144
16 x9=144 18 x9 =162
16 x 10 =160 18 x 10 = 180 20 x 10 = 200

19x1=19
19x2=38
19 x 3 =57
19%x 4 =76
19x5=95
19x6=114
19 x7=133
19 x 8 =152
19 x9 =171

% Table of 17 ¥« Table of 19 @ write these
17 x1=17
17 x 2 = 34 -
17 x 3 = 51 = it.
17 x 4 = 68 =
17 x5 =85 = :
17 x 6 = 102 =
17x7=119 = , .
17 x 8 =136 = -
17 x 9 = 153 :
17 %x10=170 19 x 10 = 190

Sub- Maths

20x1=20
20x 2 =40
20x 3 =60
20x 4 =80
20 x5=100
20 x 6 =120
20 x7 =140
20 x 8 =160
20 x9 =180

i

tables

in your
notebook and

learn it
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C _Topic- Dodging tables (Multiplication)
o " Y% Complete the given dodging tables- *

a)3x7=L] b)2x8=

C)ng: d)3310=

e)1I0x6 =L 1f)0x7-=

i I,’I"g)tncs: h)9 x7=

1)8x3= J)6 %9 =

v Home work-
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Class- 3,4 and 5 Sub- Math
Topic- Multiplication by 0 and 1.

Multiplication fact-
@ When we multiply any number with 0

the result willbe 0. Forex.14 x0=0

When we multiply any number with 1,

the result will be 1. Forex. 12 x 1 =12

# Solve- @
a) 13 x 0 \

b) 15 x 0 =
c) 12 x =0
d) 18 «x =0
e) 19 x 1 =
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Class-3 Sub-Maths
Topic - Multiplication of 0 and 1

% Multiplication facts-

1) When we multiply any number with
zero the result will be zero.

2) When we multiply any number with
one the result will be that number itself.
a) 57x0=0 b) 746 x 0 = 746

C) 48 x1=48 d) 437 x 1 =437

% Now do it yourself-

a)32x0 = b) 57 x 0 =

€)337x0=[] d)487x0=

e) 68 x 1= f)72x1=

g)583x1=[] h)837x1=

Made by- Pfatibha Yadav (AT.), P.S.Chauradev.
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Class-3

Sub-Maths

Topic- Multiplication
Y Multiplication by 10 and its
multiples-

@ When we multiply any number with
10 or its multiple than number of zeros
are increased in that number according
to the multiple of 10. For example-

a) 42 x 10 = 420

b) 38 x 100 = 3800

c) 52 x 1000 = 52000
d) 480 x 10 = 4800

v Now do it yourself-
a)37x10=___

b) 43 x 100 =

c) 57 x 1000 =
d) 430 x10 =

e) 570 x 100 =

f) 345 x 1000 =

g) 7280 x 10 =
h) 435 x 100 =
1)105x1000=_____
= j) 1320 x 100 =

?
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Class- 3,4,5 Sub- Maths

Topic- Dodging Tables.
@ Solve the following dodging tables by filling in
the blanks-

a) 2 x 6 = []
b) 3 x[] =18

¢) L] x4 =16
d) 5 x3 =[]
e) 6 x [ =24

d) [ x 3 =21
f) 8 x 8 =[]

'g) 9 x []=18
h) [ x5 =50
i) 11 x9 =[]

j) 12 x [ = 48
LR O x3 =39
) 14 x 6 = []

j) 15 x (0 = 75
R) [] x 2 =32
) 17 x 8 = [

m)18 x [] = 36
n) L] x4&=176
0) 20 x 8 = [
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Class— Sub- Math
Topic- Multiplication (Word problems)
Q.1- If 12 children have to be given 9 toffees each,
how many toffees would be needed? How would you

find out?
Sol- Total no. of children =12
Toffees given to each child =9
Total no. of toffees needed = 12 x 9 = 108 toffees.
Ans = 108 toffees.
Q.2- How many tyres will be there in 5 bicycles?
Sol- The number of tyres in one bicycle = 2 tyres
~ Number of tyres in 5 bicycles =2 x 5 =10 tyres
Ans =10 tyres.
Q.3- How many tyres will be there in 14 cars?
Ans- The number of tyres in one car = 4 tyres
‘ Number of tyres in 14 cars = 14 x 4 = 56 tyres
Ans = 56 tyres.
Q.4- A child has 5 books. Each book has 18 pages.
How many pages are there in all the 5 books?
Sol- Total number of books = 5 books
Number of pages in each book = 18 pages
Total number of pages in 5 books =18 x 5 = 90 pages
Ans = 90 pages.







